SINO313N >> kJF)L/NyI(LTX1050KWH)

EHH : 2015-06-18 ENRI B : 2023-03-31

Cub Cadel-

OPERATOR’s MIANUAL

Triple Rear Bagger — 19A40002100

A WARNING
READ AND FOLLOW ALL SAFETY RULES AND INSTRUCTIONS IN THIS MANUAL
BEFORE ATTEMPTING TO OPERATE THIS MACHINE.
FAILURE TO COMPLY WITH THESE INSTRUCTIONS MAY RESULT IN PERSONAL INJURY.

CUB CADET LLC, P.O. BOX 361131 CLEVELAND, OHIO 44136-0019

Frinted In USA Form Ho. T69-046260
(September 3, 2013)

Copyright(C) SHINGUSHOKO All Rights Reserved.



SINO313N >> FJFILISwD(LTX1050KWHR) >> Page.1
BE#H A : 2015-06-18 ENRI B {F : 2023-03-31

19A40002100 Parts List

Copyright(C) SHINGUSHOKO All Rights Reserved.



SINO313N >> FJFIL/VyHD(LTX1050KWH) >> Page.1

EHHE : 2023-01-16 ENRI B : 2023-03-31

2L | w=eE |v BRAH | B |E5s | ERs|  hEE s
1 Upper Chute Assembly 1 1 931-04291
2 Triple Bagger Cover Assembly 4 4 931-04298
3 Upper Chute Support 1 1 731-06497
4 Bagger Cover Screen 1 1 731-06504
5 Carriage Screw, 5/16-18 x 1 00,; 1 1 710-0276
6 Wing Knob, 5/16-18 2 2 720-04122
7 Clevis Pin, .62" Dia. 2 2 711-0309A
8 Grass-bag Assembly 1 1 964-04090A
9 Triple Bag Support Assembly 1 1 683-04498A-0637
10 Vertical Support Bracket 2 2 683-04519A-0637
11 Cover Hinge Pin 2 2 711-05079
12 Flange Lock Nut 5/16-18 1 712-04063
13 End Plug 1 735-0246A
14 Discharge Chute Elbow, 50 /54rDeck 1 631-04493
15 Chute Stop-Bracket 1 683-0617A-0637
16 Hitch Bracket, RH 1
17 Universal Rear Attachment Bracket 1
18 Hitch Bracket, LH 1
19 Deck Baffle, 50" 1 703-05783-0637
21 Tap Screw,1/4 - 20 x .750 (SO" Deck) 1 710-3015
22 Flange Lock Nut,1/4 - 20 (50" Deck) 1 712-04064
23 Carriage Screw, 3/8 -16 x 1.00" 1 710-3168
24 Flange Lock Nut, 3/8-16 1 712-04065
25 Internal Cotter Pin, .148 x 3.00 1 714-0117
26 Ratchet Clip, .250 1 726-3046
27 Bagger Chute Adapter, 7 In. 1 731-06611
29 Blade, 1790 Lg , Star Bagging 1 742-040560*0637
30 Hitch Support Bracket 1 783-08129-0637
31 Chute Strap 1 723-0476
33 Mounting Bracket Kit (inci Ref /6 18) 1 689-00304
34 Discharge Chute Plate 1 783-06694-0637
35 Adhesive Foam Stnp 1 721-04388

Copyright(C) SHINGUSHOKO All Rights Reserved.




